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(5) All forms of geavrod, ceavrijc and éavrod, avtijs, favrod
can contract the first two vowels to give cavtod, cavtijg, etc.
and adrod, avtijs, avrod, etc. Distinguish carefully between
the contracted third person reflexive pronoun forms and the
corresponding forms of adtds, adt, adrd; they differ only
in breathing: e.g., avtdv “himself”; adrdy “him.”

120. POSSESSION WITH PERSONAL AND REFLEXIVE PRONOUNS

To show possession in the first and second persons, either the possessive adjec-
tive or the genitive of the personal pronoun (enclitic in the singular) can be used.
The possessive adjectives are:

8udg, éut), éudv, “my, mine”

uérepos, Nuetépd, fuéregoy, “our, ours”

gdg, o1, odv, “your, yours (addressing one person)”
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vubregog, vuetéod, vuéregov, “your, yours (addressing more than one

person)”

These possessive adjectives are the equivalent of the genitive of the personal
pronouns. The possessive adjective is used in the attributive position, the
genitive of the personal pronoun in the predicate position:

0 8udc pilog 0 pilog pov my friend

oi 8uot pllos oi plhot pov my friends

6 fjubrepog pilog 6 pilog 1judy our friend

ot Huéregot pilot o pthot Hudv our friends

6 60¢ 4deApds 6 GdeApds oov your brother (addressing one
person)

oi gol ddeApol of adeApol aov your brothers (addressing one
person)

6 duéregoc adedpds 6 GdeApdc Vudy your brother (addressing more
than one)

of Vuéregot ddeApol of ddedpoi Hudy your brothers (addressing more
than one)

Thus, to express the idea “my friend,” Greek can use either the adjective (¢
8udc @lAog) or the genitive of the personal pronoun (6 @f{Aoc pow, literally,
“the friend of me”).
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To show possession in the third person, the genitive of a demonstrative pronoun
in the attributive position or the genitive of adtds, adzs#, adrd in the predicate
position is used:

6 tovTov @ilog 6 @idog avtod his friend
6 tadtys @ilog 0 @ilog avrijs her friend
of tovtov piloe of pidot adrod his friends
of Tadtys @ilot of pidot avrijg her friends
6 Todtawy @ilog 6 plhog adrdw their friend
of Tobtawy @ilot of pilot adraw their friends

To show reflexive possession in the singular, the genitive of the reflexive
pronoun is used in the attributive position:

Ereppa Tov EPoTOL GOeApiy.
I sent my (own) brother.
Erepypag Tov oeaVTOL AdeApov.
You sent your (own) brother.
Emepype Tov €avtol ddedpdv.
He sent his (own) brother.

Less commonly, the possessive adjectives éuds and odg are used:

Enepya Tov uov GoeApdv.
I sent my brother.

To show reflexive possession in the plural, in the first and second persons the
adjectives 7juérepog, fuetéod, fjuéregov and vuéregos, Yuetéod, vuérepov can
be used by themselves, but they are usually strengthened by adt@v, which
agrees with the genitive idea in the possessive adjective. To show reflexive
possession in the third person plural, £avt@ is used in the attributive position,
or the reflexive possessive adjective opérepog, opetépa, opéregor, strengthened
by adr@v, can be used:

fHpétegov adTdv

fpétepov
We sent our (own) brother.

éméupauey Tov { } adeipdy.

Spétepov adTéV
Suérepov
You sent your (own) brother.

énéupare TOV { } GoeApdv.

opétepov adTOV

b} \
Emeupay Tov .
1y {éautwv

} ddeApdv.
They sent their (own) brother.



